
Polgar Combinations – Solutions 

 

The puzzles are arranged in rows so puzzle 1 is top left and puzzle 6 is 

bottom right. 

 

Number 1 

1. Rxf6 Nxd5 2. Rxf7+ Kxf7 3. exd5 Qd4+ 4. Qxd4 exd4 5. Rd1 

 

Number 2 

1. Qxc4 Bxf3 2. Qxc8 Rxc8 3. Nd5 Qc5 4. Ne7+ Kf8 5. Nxc8 Qxc1 6. 

Rxc1 Bxe2 7. 

Nxa7 

 

Number 3 

1. Qg7+ Rxg7 2. hxg7# 

 

Number 4 

1. Be8 Rbc7 2. Nxc6 g6 3. Bxg6 hxg6 4. Rxg6+ Nxg6 5. Nxe7+ Rxe7 6. 

Qxg6+ Kf8 7. Be1 d4 8. Bh4 dxe3 9. Bg5 Bf7 10. Qf6 Ke8 11. Rd1 Qe6 12. 

Qxe6 Bxe6 13. Bxe7 Bxe7 14. Re1 Kd7 15. Rxe3 Kc6 16. Rh3 Bf8 17. Rh8 

Bg7 18. Ra8 Bh6 19. Rxa6+ Kd7 20. Rd6+ Ke7 21. a6 Bc8 22. Rxh6 

 

 

Number 5 

1. Nxh7 fxe4 2. Nxf8 Kxf8 3. Rxa1 Bxc4 4. Bg5 Nf6 5. Qd4 

 

Number 6 

1. Qxh6+ Nxh6 2. Rxh6+ Kg7 3. Nf7+ Kxf7 4. Rh7+ Kf6 5. e5+ dxe5 6. 

dxe5# 

 


